
:
K

−
G = Hp

−G = H
h

= HC

−
G

h
= Gp

GC = HH

+
Rn:n
−
Rn:n

yyssssssssssssssssssssssssssss

%%LLLLLLLLLLLLLLLLLLLLLLLLLLLLLLL

**UUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUU

+
Cn:n
−
Cn:n

��:
::

::
::

::
::

::
::

::
::

::
::

::
::

::
::

::
::

::
::

:

nR&
n:

nR&
n

nC&
n

yysssssssssssssssssssssssss

OO

&&LLLLLLLLLLLLLLLLLLLLLLLLLLLL

**UUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUU Rn:n

����
��

��
��

��
��

��
��

��
��

��
��

��
��

��
��

��
��

��
��

��
��

�

•
Cn:n

xxqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqqq

n

2R
&
n

nH&
n

OO

��>
>>

>>
>>

>>
>>

>>
>>

>>
>>

>>
>>

>>
>>

>>
>>

>>
>>

>>

nR&
n

xxqqqqqqqqqqqqqqqqqqqqqqqqqqqqqq

OO

''NNNNNNNNNNNNNNNNNNNNNNNNNNNNNN

++WWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWW n

2R
&
n

OO

����
��

��
��

��
��

��
��

��
��

��
��

��
��

��
��

��
��

��
��

nC&
n:

nC&
n

wwoooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

OO

nC&
n

OO

��@
@@

@@
@@

@@
@@

@@
@@

@@
@@

@@
@@

@@
@@

@@
@@

@@
@@

@@
Cn:n

nR&
n:

nR&
n

SS

OO

~~}}
}}

}}
}}

}}
}}

}}
}}

}}
}}

}}
}}

}}
}}

}}
}}

}}
}}

}}
}

nC&
n

wwnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

OO

n

2C
&
n

OO

nC&
n:

nC&
n

OO



nC&
n

$$I
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

nR&
n

>>||||||||||||||||||||||||||

  B
BB

BB
BB

BB
BB

BB
BB

BB
BB

BB
BB

BB
// 2nR&

2n �
nC&

n
// 2nC&

2n �
nC&

n:
nC&

n

2nR&
2n �

nR&
n:

nR&
n

::vvvvvvvvvvvvvvvvvvvvvvvvvvvvvv


